Chain Rule
These are composition functions:
h(x) = (3x —2)3

h(x) =+V3x —2
h(x) = 3x — 2
h(x) = e3%~2

d
—[f(g()] = f(g()g'&x)




Ex. f(x) = (4x*+ 1)’
£1(x) = 7(t
(x) = 7(tx 1L()€~87< ’5&("’“4’)(

Ex. g(x) = e”*
9'(x)* "7



Ex. If y = sin® 9, find

dy

ao




Pract. f(x) = cos(x? + 1)
FUr)= - (x41) 2X

Pract. f(x) = V3x2 + 8x — 2 3y +Y

£x)® "z'(3x"’r37<'2)~’/‘(5’“’ g) ;\Y;?Mxvz

1, v\
Pract, f(x) = —— = (x"*+%)

x24x4

£1%)7 - (x <) (2% ix’)



Ex. f(x) = x tan(=x*)

£+ X'MJ' ZJ’X’)'I




Ex. f(x) = d(5°-20)
b= L2 76000 156" 2)

A turducken is a dish consisting of a chicken
stuffed Into a duck, which itself Is stuffed into
a turkey.
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